4.9 Quadratic Systems

Possible Solutions for One Quadratic Equation and one Linear Equation
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Q  Soluhons

Solve the following system by graphing:
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Y15z =X = 23X 110

(x45)(x-1)=0
X==5 _ |

y= -5t5 = 2s)

Solve by substitution:
{y =x%—4x+5
y=-x%+5

X*-4x +5= ~x*+5
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Solve using the INTERSECT feature on a graphing calculator. Round your
answer to the nearest hundredth. Sketch the graph below.
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Solving systems of inequalities:
Find the solution of the system of inequalities
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Solve by susbstitution:
{ y—2x=x+5 Y=3>“5
Yy

+1=x2+5x+3 szz*sx*z

X 5%+ = 3x+ 5

X ¥Ox -3=0 (’51""0 S ‘87J

(% +3Y)(X~1) =0

X=-3,)
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